Trig Review
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Solve for x and y. Leave answers in Simplest Radical Form.
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4.) Find the length of BC. 50” CA'H @A

Round to the nearest tenth if necessary.
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ratios for the following trigonometric functlonls

5.) Solve for x and y.
Round to the nearest tenth if necessary.
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6.) A farmeris constructlng a new fence on his land in the shape of a triangle. His shortest side is 3 feet long, the longest
side is 16 feet long and the third side is 12 feet long. He claims that when he puts all three sides together, he has a right
triangle.

Did the farmer construct a right triangle? If not, classify the type of triangle he constructed.
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Draw a diagram and solve the following story problems. Round to the nearest tenth if necessary.

11) The angle of elevation from an observer to the top of a flagpole is 65°. If the observer is standing 30

feet from the base of the pole, how tall is the flagpole? épHC A,H To A—
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12.) Anna is standing on top of a 200 meter sheer cliff when she sees another hilzgrPa't the bottom of the

valley. If the angle that she sees the hiker is 27°, how far is Anna from the other hiker? §0 H CA‘H mA'
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13.) What is the length of the side DC? Round your answertothe ne hundredth.
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Find the valu&of the missing variables. Leave answers in Simplest Radical Form. Q\’ M’\Qﬁ . /n'\ m.
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